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Topic: Identifying Sentence Errors                                 

Chapter: Faulty Verb 2
Finite verbs change with the tense they are expressed in. For example:

1. The present – ‘smile’

2. The past, formed by adding – ‘ed’ – ‘smiled’

3. The future – ‘will smile’

4. The continuous tense – adding – ‘ing’ – ‘smiling’

5. The perfect tense – adding ‘had’/ ‘had’/ ‘have’ – ‘has smiled’/ ‘had smiled’/ ‘have smiled’

Usually English verbs follow this pattern, but some verbs called irregular verbs don’t follow it. For example: 

‘break’ – broke’ – ‘has broken’

‘speak’ – ‘spoke’ – ‘has spoken’

In the SAT Examination, a question relating to a verb form, especially an irregular verb form, appears occasionally.

Practice Questions

Q1.

Tom use to arrive early to class almost everyday. No error.
          A                   B           C                     D             E

Answer: A

Explanation: Since the action happened in the past the corresponding verb should be in the past as well. The correct verb is ‘used’.

Q2.

This is a saga of the sea and the men who risking their lives on it. No error.
        A            B                            C               D                                     E

Answer: D

Explanation: Since the action is in the present tense the corresponding verb should be ‘risk’.

Q3.

He recited the passage by rote and gave no indication he understands what he was saying. No error.
         A                             B               C                                      D                                                E

Answer: D

Explanation: Since the action is in the past tense the corresponding verb should be in the simple past as well. The correct verb is ‘understood’.

Q4.

The odors from the kitchen are whet my appetite; I will be ravenous by the time the meal is served. 

          A                                     B                                  C                                                       D

No error.
      E

Answer: B

Explanation: Since the action is in the present continuous tense the corresponding verb should be ‘are whetting’.

Q5.

Cut flowers are beautiful for a day, but all too soon they wither. No error.
  A                B                                              C                      D            E

Answer: E

Explanation: There is no error.

Q6.

With proper handling, her fortunes increased and she become rich. No error.
  A                     B                                   C                         D                   E

Answer: D

Explanation: Since the action is in the past tense the corresponding verb should be in the simple past as well. The correct verb is ‘became’.
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